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FoOBFEHY EREEF RN, {F R4 BREA G R RET 100 BAp O
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v AR FE T A S T (Amay)

PR TR, L L RE SRR AR SRR § R R e e )
QE,E%EJﬁiﬁigﬁmﬁﬁgﬁﬂﬂﬁﬁﬁ'&P IR PR, B R Ard S, b
¥y £y 30 P78 e FHR- Sl o BV L - B A BB bR R 3‘!?”#}’ R
(element)* fL 5 T8 7|58 p ,, o2 %%ﬁ%{’l% GRIHEE o g Bp AP R BTN R
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AL 0%, 20,40, 00
score[0] score[1] score[2] score[3] B cceeeee score[48)] score [4

23 Y A F BB AF AT, A AEe 2 LS e oY FEELN, B SRR T ik
FSEAEE T (index) 4L TR SIE o B’F{zrary[3]z\/ BAlafih ary 8 Y e B EGL
e 0 B dp) o AR AR P, FALT "*Jﬁi i’%}'\ CRIZ AR FR, R Y P P R
SRR AP REEN T HETT, ol VR E R AR - b L enTE, AR Y B AR ER S
@ Vgt ek R, @ ?5'%5;“%‘?5'%&?_‘? THE

SR s R A T[] RS KB RAATHR, AARE T ERAE, 3
BALAE =[*F 1, 2F 2, 2F 3, ]
B Rkl Rl s S e
2 Le A PR
%2 2:8 7| ¢ fi[start:end:step]
Lo 1 7 Gl iR o e 7 A4, 2 AR, RS E AL
IETYE Fg%strat%\ | end- gﬁ%iﬁ“ﬁﬂg 7| Z, step 5 IR o % strat §v&, FERE
% 0;%end g, RIFERE 5 8 7L B % step §v, RIFERES 1o
B 7| ¥ Lend Vg3 0k
S 3¢ & * P (listl =[10, 20, 30, 40, 50] )
PEESER, VEREE A AL D o
len() . :
7] : num = len(list]) #num € 5
BER AP A A e B o
sum() ] : total = sum(list]) #total € 150
ENCTETEIEIe Yo ya
max() 5] ¢ big = max(list]) #big € 50
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min() 5| small = min(list]) #small €< 10
= ik i # s (listl = [10, 20, 30, 40, 50])
AT P F| &, #-value FAc B P FIE - B iR o
append(value) b @ listl.append(66) # listl =[10, 20, 30, 40, 50, 66]
. A 7t index BdE » — B E % value e~ Z o
Insert(index, - value) | .\ insert(2,  77) #listl = [10, 20, 77, 30, 40, 50]
IR TR
Pop() b @ listl.pop()
sort() PAlen~ g, o o] 3] 7)o
reverse() PAeh~k, ¥ UF D e ERATRES| A F VR
e i % m (listl =[10, 20, 30, 40] )
2 854y AT AT F AT E FIY
in & ¢ tf =40 in list] #tf €< True
5| : tf =95 in list]l #tf €<False
Mep e MR XY - BRI, S ESF Y R BEIINT
B > - datal = list] #datal §= listl T;K %10, 20, 30, 40]
JLpEE datal P oehE s % listl 4 g BT F R o
b : datal[2] = 33 #datal fr listl #82[10, 20, 33, 40]
RO AR I
+ bl ¢ list2 = [66, 77, 88]
list3 = listl + list2  #list3 = [10, 20, 30, 40, 66, 77, 88]
MR AE
* bl o listd =2 * listl  #list4 = [10, 20, 30, 40, 10, 20, 30, 40]

list5 = list * 3 #list5 =

[10, 20, 30, 40, 10, 20, 30, 40, 10, 20, 30, 40]
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